8 LY. { VN TV

n.razavi@tabrizu.ac.ir sgs, yob o
\Yay




Il Cunygd

T s
‘_Am S T ]
$9,9545 0Nl O

0 (6wl (gl 0w 02 ,eX O

S5 e, O

1RV - (5018) 100 33w — (188 (59838 — (,ClAL g



0ATIAS £¢5)9 150

e glad Bl 5 g0 Bus cll> @ gg,0 Sl jlan e 0 3eS b (6 o 8L B0 O

1RV = (5615) pob 33w — (1as (5987 — (,Coos (JHoo




8 LY. { VN TV

L p RV Y | P .)9:5- dib eo)L\s u.».o.cb‘ J.'>o|) P Lg)l...oc\.u_e‘.: JjLw.o )‘ Lg)l.w.g )o .oo.;J H

Iteration 0: length = 1388.15

~
S

. .

« o5 slogaine i 5l acgoms SOl slas O

Nk 58 S 8L 10,5 0,90 ouids 8 i

1RV = (5615) pob 33w — (1as (5987 — (,Coos (JHoo



8 LY. { VN TV

. *

w—&-‘ c_éd..c'b C,Jl:> 05:5 c\ib so)LxS u.».o.@‘ J.>o|) s L;)wa JjLw.,o )| Lg)Lw.: )a .od.g'| O

Conflicts =17

~

«J.,olf Lg[:a&&;.;o]iﬁ:» )‘ AL goro '_i: Sl Lgl..é.é [

plos oS loaus S (8L 159N aliss
Q‘SLSA 00)9]).3 ‘) Ao LSLQUJQBW

1RV = (5615) pob 33w — (1as (5987 — (,Coos (JHoo




Conflicts =17

8 LY. { VN TV

'csl’“‘ S g U
Fed e lee 4 cdl> SOl eolaal O

Llod ol 5l S6 a8 > g,k 5l Jxd Cdl> 040 O

Ll O
[ elails clao )T cilue 53 poc] o5 L alatls b pae O
Seamali b I3 slows (slolad jo Jsino glo ol o8l O

e §lwaigs Pluw lp abe O
Sae pli Gk p el (e B0 O

1RV = (5615) pob 33w — (1as (5987 — (,Coos (JHoo



1P)0-N aliuws :J0s

05,55 18 ad b gt ¢ lans

1RV = (5615) pob 33w — (1as (5987 — (,Coos (JHoo



1)0-N adliws )0

D5 5 L st o laus

el gl ol s> 4 bg e (gt )0 59 Ko (2lbmle Jleel O

1RV = (5615) pob 33w — (1as (5987 — (,Coos (JHoo



1P)0-N aliuws :J0s

SS 50 6059 90 g2 45 o LI,8 glaieS A N Jo N aiylads ambo G o | g N aliis O
Q5SS 18 ks byt e

99> 4 bg e e 10 139 SO bl Jleel O

V= log 5,0 olass

e = g S 0 olaws

1RV - (5018) 100 33w — (188 (59838 — (,ClAL g



(53)93 )

1RV - (5018) 100 33w — (188 (59838 — (,ClAL g



(53)93 3
T =
LS g oolw ol SG O
olgzds cdl> G 5l igq,0 O
Glos b (p i 40 2S5 > 1,55 0
Al i b Sl 055 5l begluas 51 S g STl O

4 colae O Llse O)
=9l O N Cae o O

1RV - (5018) 100 33w — (188 (59838 — (,ClAL g



(2138 b a5 HLNHS) (S)Pas
ey ...
Caasl> Cans b Lade ao jo Cawygl 095 5l 8, Y wlle . 60,9545 O

function HILL-CLIMBING(problem) returns a state that is a local maximum

inputs: problem, a problem
local variables: current, a node
neighbor, a node

current « MAKE-NODE(problem.INITIAL-STATE)

loop do
neighbor < ahighest valued successor of current

if neighbor VALUE < current.\VALUE then return current.STATE
current « neighbor
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function SIMULATED-ANNEALIING(problem, schedule) returns a solution state

inputs: problem, a problem
schedule, a mapping from time to “temperature”

current « MAKE-NODE(problem.INITIAL-STATE)

fort = 1to o do
T « schedule|t]
if T = 0 then return current
next < a randomly selected successor of current
AE < next.VALUE - current.VVALUE
if AE > 0 then current « next
else current « next only with probability e2E/T
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function GENETIC-ALGORITHM(population, FITNESS-FN) returns an individual

input: population, a set of individuals
FITNESS-FN, a function that measures the fitness of an individual

repeat
new_population «empty set

loop for i from 1 to SIZE(population) do
x <« RANDOM-SELECTION(population, FITNESS-FN)
y < RANDOM-SELECTION(population, FITNESS-FN)

child «~ CROSSOVER(x, y)

if (small random probability) then child « MUTATE(child)
add child to new_population
population <« new_population
until some individual is fit enough or enough time has elapsed

return the best individual in population, according to FITNESS-FN
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